=

T

2 1
LN, ory &*NIcly/dp. [GEV]
o

1072

1073

Ratio to ALICE

0.5

900 GeV pp Soft QCD
=SSN L L L L L
L pT(p) (alice2011-y0.5) ]
=T .
-~ m  ALICE S
— --f-- Herwig 7.2.0 default .

—a— Pythia 8.186 default . N
- ¢+ Sherpa 1.4.3 default g T
:, | | | | [ | 1 | | | | | | | | | | | | |:
: T | T T T T | T T T T | T T T T | T T T |:
= R N o O
— B 7'y ’ ..... 4 ]
— I —
:‘ . R .
[ Yyt |
S0 A
S K
GEE \A\‘\A/A/\/A—-—A/‘\A\‘ _
<
B EIE'E )
0 - oats ]
N e RN = A= S 5
-
1 " | 1 1 1 " 1 " | " 1 1 1 1 " | " 1 1 " 1 1 | 1 1 1 1
0.5 1 1.5 2

Rivet 3.1.0, = 5.5M events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


